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1.Is this a business need that HPE Scalable Object Storage with Scality RING can meet?

Solution: A customer wants to deploy a general purpose storage solution for a new Microsoft SharePoint
and Exchange implementation.

A. Yes

B. No

Answer: A

2.A Scality RING environment based on the HPE reference architecture is being designed.
Is this an HPE server that should be recommended as a storage node?

Solution: ML350

A. Yes

B. No

Answer: B

3.A customer has a Scality RING solution with twelve storage servers evenly split between three sites.
Is this the recommended Advanced Resilience Configuration for data drives?

Solution: RAID6 (10+2)

A. Yes

B. No

Answer: A

4.|s this statement true when working with cloud storage?

Solution: It has higher data consistency compared to traditional block storage.
A. Yes

B. No

Answer: A

5.1s this a capability HPE object storage solutions can provide over other types of storage within the HPE
portfolio?

Solution: software-defined platform to collapse storage and hypervisors silos into simple, easy-to-scale
building blocks

A. Yes

B. No

Answer: A
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